

עליון וחתום

$$\int_{-a}^a f(x) dx = \int_{-a}^0 f(x) dx + \int_0^a f(x) dx \quad \text{פירוק (1)}$$

החלפת $x = -t$ בראשון מהאינטגרלים

$$\int_{-a}^0 f(x) dx = \left\{ \begin{array}{l} x = -t \\ dx = -dt \end{array} \right\} = \int_a^0 f(-t) (-dt) =$$

$$= - \int_a^0 f(-t) (-dt) = \int_a^0 f(-t) dt = - \int_0^a f(-t) dt$$

כאשר f היא פונקציה זוגית $f(-t) = f(t)$ ולכן $\int_0^a f(-t) dt = \int_0^a f(t) dt$

$$\int_{-a}^a f(x) dx = \int_0^a f(t) dt + \int_0^a f(t) dt = 2 \int_0^a f(t) dt$$

$$\int_{-a}^a f(x) dx = - \int_0^a f(t) dt + \int_0^a f(x) dx = 0 \quad \text{פונקציה אי-זוגית}$$

לדוגמה $f(x) = \frac{x^5}{3 + \cos x}$ - פונקציה אי-זוגית

$$f(-x) = \frac{-x^5}{3 + \cos(-x)} = - \frac{x^5}{3 + \cos x} = -f(x)$$

$$\int_{-1}^1 \frac{x^5}{3 + \cos x} dx = 0 \quad \text{כי היא אי-זוגית}$$

$$\int \frac{dx}{x\sqrt{1+\ln x}} = \left\{ \begin{array}{l} \ln x = t \\ \frac{1}{x} dx = dt \end{array} \right\} = \int \frac{dt}{\sqrt{1+t}} = \quad (1)$$

$$= 2\sqrt{1+t} + C = 2\sqrt{1+\ln x} + C$$

$$\int \frac{x dx}{1+\sqrt{x}} = \left\{ \begin{array}{l} 1+\sqrt{x} = t \\ \frac{1}{2\sqrt{x}} dx = dt \end{array} \right. \quad (2)$$

$$= \int \frac{2(t-1)^2(t-1) dt}{t} = \int \frac{2(t-1)^3}{t} dt =$$

$$= 2 \int \frac{t^3 - 3t^2 + 3t - 1}{t} dt = 2 \int (t^2 - 3t + 3 - \frac{1}{t}) dt$$

$$= 2 \left[\frac{t^3}{3} - \frac{3t^2}{2} + 3t - \ln|t| \right] + C =$$

$$= \frac{2}{3}(1+\sqrt{x})^3 - \frac{3}{2}(1+\sqrt{x})^2 + 3(1+\sqrt{x}) - 2\ln|1+\sqrt{x}| + C$$

$$\int \frac{dx}{x^2+4x+5} = \int \frac{dx}{(x+2)^2+1} = \left\{ \begin{array}{l} x+2 = t \\ dx = dt \end{array} \right. \quad (3)$$

$$= \int \frac{dt}{t^2+1} = \arctan t + C = \arctan(x+2) + C$$

$$\int x(1-x)^{100} dx = \left\{ \begin{array}{l} t = 1-x \\ dt = -dx \end{array} \right\} = \int (1-t)t^{100} dt \quad (3)$$

$$= \int (t^{100} - t^{101}) dt = \frac{t^{101}}{101} - \frac{t^{102}}{102} + C =$$

$$= \frac{(1-x)^{101}}{101} - \frac{(1-x)^{102}}{102} + C$$

$$\int \frac{2x^2}{\sqrt{4-x^2}} dx = \int \frac{6-(4-x^2)}{\sqrt{4-x^2}} dx = \int \frac{6}{\sqrt{4-x^2}} - \int \frac{(4-x^2)}{\sqrt{4-x^2}} dx \quad (3)$$

$$= \int \frac{6}{\sqrt{4-x^2}} dx - \int \sqrt{4-x^2} dx$$

دستگاه 5 و 110/

$$\begin{aligned} 6 \int \frac{dx}{\sqrt{4-x^2}} &= 6 \int \frac{dx}{\sqrt{4(1-\frac{x^2}{4})}} = 6 \int \frac{dx}{2\sqrt{1-(\frac{x}{2})^2}} = \\ &= 3 \int \frac{dx}{\sqrt{1-(\frac{x}{2})^2}} = \left(\begin{array}{l} t = \frac{x}{2} \\ dt = \frac{1}{2} dx \end{array} \right) = 3 \int \frac{2 dt}{\sqrt{1-t^2}} = \\ &= 6 \int \frac{dt}{\sqrt{1-t^2}} = 6 \arcsin t + c = 6 \arcsin \left(\frac{x}{2} \right) + c \end{aligned}$$

$$\int \sqrt{4-x^2} dx = \left\{ \begin{array}{l} x = 2 \sin t \\ dx = 2 \cos t dt \end{array} \right\} =$$

$$= \int \sqrt{4-4 \sin^2 t} \cdot 2 \cos t dt = \int \sqrt{4 \cos^2 t} \cdot 2 \cos t dt$$

$$= 4 \int \cos t \cdot \cos t dt = 4 \int \frac{1 + \cos 2t}{2} dt$$

$$= 2 \int (1 + \cos 2t) dt = 2t + \sin 2t + c$$

$$= 2 \arcsin \left(\frac{x}{2} \right) + \sin \left(2 \cdot \arcsin \left(\frac{x}{2} \right) \right) + c$$

$$\int \frac{(e^{2x} + 2)(e^{3x} + 3)}{e^x} dx = \int \frac{e^{5x} + 3e^{4x} + 2e^{3x} + 6}{e^x} dx \quad (!)$$

$$= \int (e^{4x} + 3e^x + 2e^{2x} + 6e^{-x}) dx = \frac{e^{4x}}{4} + 3e^x + e^{2x} - 6e^{-x} + c$$

$$\int \frac{x^2}{x^6 + 4} dx = \int \frac{x^2}{(x^3)^2 + 4} dx = \left\{ \begin{array}{l} t = x^3 \\ dt = 3x^2 dx \end{array} \right\} \quad (!)$$

$$= \int \frac{\frac{dt}{3}}{t^2 + 4} = \frac{1}{3} \int \frac{dt}{t^2 + 4} = \frac{1}{3} \int \frac{dt}{4 \left(\left(\frac{t}{2} \right)^2 + 1 \right)}$$

$$= \frac{1}{12} \int \frac{dt}{\left(\frac{t}{2}\right)^2 + 1} = \left\{ \begin{array}{l} u = \frac{t}{2} \\ du = \frac{1}{2} dt \end{array} \right\} =$$

$$= \frac{1}{12} \int \frac{2 du}{u^2 + 1} = \frac{1}{6} \int \frac{du}{u^2 + 1} = \frac{1}{6} \arctan u + c$$

$$= \frac{1}{6} \arctan\left(\frac{x^3}{2}\right) + c$$

$$\int \frac{\arcsin x}{\sqrt{x+1}} dx = \left\{ \begin{array}{l} u = \arcsin x \mid u' = \frac{1}{\sqrt{1-x^2}} \\ v' = \frac{1}{\sqrt{x+1}} \mid v = 2\sqrt{x+1} \end{array} \right\} = (17)$$

$$= 2 \arcsin(x) \cdot \sqrt{x+1} - \int \frac{2\sqrt{x+1}}{\sqrt{1-x^2}} dx =$$

$$= 2\sqrt{x+1} \arcsin x - 2 \int \sqrt{\frac{x+1}{(1-x)(1+x)}} dx =$$

$$= 2\sqrt{x+1} \arcsin x - 2 \int \frac{1}{\sqrt{1-x}} dx =$$

$$= 2\sqrt{x+1} \arcsin x + 2\sqrt{1-x} + c$$

$$\int \frac{e^{2x}}{\sqrt{e^x+1}} dx = \left\{ \begin{array}{l} t = e^x \\ dt = e^x dx \end{array} \right\} = \int \frac{t dt}{\sqrt{1+t}} \quad (18)$$

$$= \int \frac{t+1-1}{\sqrt{t+1}} dt = \int \frac{t+1}{\sqrt{t+1}} dt - \int \frac{1}{\sqrt{t+1}} dt$$

$$= \int (t+1)^{\frac{3}{2}} dt - \int (t+1)^{-\frac{1}{2}} dt = \frac{(t+1)^{\frac{7}{2}}}{\frac{7}{2}} - \frac{(t+1)^{\frac{3}{2}}}{\frac{3}{2}} + c$$

$$= \frac{4}{7} (e^x+1)^{\frac{7}{2}} - \frac{4}{3} (e^x+1)^{\frac{3}{2}} + c$$

$$\int \cos(\ln x) dx = \left\{ \begin{array}{l} u = \cos(\ln x) / u' = -\frac{\sin(\ln x)}{x} \\ v' = 1 / v = x \end{array} \right\} \int = C$$

$$= x \cos(\ln x) - \int \frac{-\sin(\ln x)}{x} \cdot x dx =$$

$$= x \cos(\ln x) + \int \sin(\ln x) dx = \left\{ \begin{array}{l} u = \sin(\ln x) / u' = \frac{\cos(\ln x)}{x} \\ v' = 1 / v = x \end{array} \right\} \int =$$

$$= x \cos(\ln x) + x \sin(\ln x) - \int \cos(\ln x) dx$$

$$2 \int \cos(\ln x) dx = x \cos(\ln x) + x \sin(\ln x)$$

$$\int \cos(\ln x) dx = \frac{x \cos(\ln x) + x \sin(\ln x)}{2} + C$$